S 5 FERME—BATHHETE (5 10 5)
S 5F 7 ARO 8 HERMAXEEIHSEEHRAER

(1) EitEEmELEE aEE—8 P
(2) ML EEEE—5 . P 5
(3) EHEELSEE MIER P 6

R R MR ET B

BSR4 125

2 i 2 2 R =ty 150 4

T L il 1

MR 314

& &t 181




s

- REM

Pl

fex K EEIREE—

B

=2
BEAkR BhXE
No X % I ERI HEMRIE EIRIE EIREREM)
1 (& FEm ek @R L=10.0 H=1.5 EEEE 1,000
2 |FIEET duds/ K |k [EER L=18.0 H=3.0 EEME 1,000
3 |BRET i Bk |EEAE L=20.0 H=1.0 KEET 600
4 |BRE] EHim Bk |EmEAEE L=12.0 H=2.0 R 800
5 |BARET i Bk |EEAE L=10.0 H=1.0 KEET 800
6 |BAH EHig Bk |EmEAEE L=10.0 H=2.0 R 800
7 |RAET i Bk |iEEEE L=8.0 H=2.0 AT 1,000
8 |BuE HH Bk |EmEAEE L=6.0 H=2.0 R 600
9 |maE b Bk |EmEEE L=10.0 H=1.0 EEEE 500
10 |EE Blay Bk IR L=20.0 H=1.0 EEEE 500
11 |[BR EBFE ek |E@EATR L=6.0 H=2.0 EEEE 600
12 [BE KM Bk |EmEREE L=8.0 H=15 KEET 800
13 |HE X/ ek k@R L=6.0 H=2.0 EEEE 600
14 |HE BB B |EEEE L=5.0 H=2.0 EEEE 300
15 |HE &% Pk |EmEEE L=15.0 H=15 KEET 1,300
16 [EE B0 WE @ L=6.0 H=2.0 EEE 600
17 |BE  #%H ek @R L=6.0 TR 400
18 |BEE2  FR B | EELE L=50.0 RE S 600
19 |BEE A /R Bk |IKEREIE L=20.0 KEET 600
20 |[BEE 4 /R B |EEEE L=2.0 H=15 EERE 300
21 |2 1TRH BEk | EROERE L=50.0 T E 1,200
22 B2 1TRH BEk | EROERE L=30.0 T E 1,000
23 |BE AR BEk | EROIERE L=35.0 THEE 1,000
24 |BE AR Bk | EROIERE L=30.0 THEE 800
25 |2 WHR B |EEAE L=10.0 H=1.5 AILT 800
26 B2 TR Pk | TRDHERE L=40.0 TR 1,000
27 B k/ O B |FmEk L=6.0 H=5.0 EEEE 800
28 |BEE EBAR Bk |EEAE L=6.0 H=5.0 EEAE 500
29 |BE =BA A8 |F@ETE L=2.0 H=2.0 R 200
30 |BEE  =EBAR ek @R L=8.0 H=1.0 EEEE 600
31 |BRE EBAW Bk |EmEAEE L=10.0 H=1.0 R 600
32 |BE  =EAR B |E@EATE L=6.0 H=5.0 EEEE 1,200
33 |[BRE =EA Hek | RV L=60.0 TR 1,200
34 |BEE  RA B |RRmELYE L=40.0 BRI 400
35 (R i By | EEmEE L=10.0 H=25 AT 1,200
36 (R i BR[| EmEmmEmE L=10.0 H=2.0 HITT 1,200
37 R Fi B®  [EEEE L=4.0 H=2.0 EEAE 600
38 |EE  Fi B®  [EEEE L=6.0 H=2.0 EEAE 600
39 [BE  EAE B |EEAE L=8.0 H=1.5 R 500
40 [BBE 1@ Bk |EmEEE L=70.0 H=15 EEEE 1,200
41 |FF  HH B |RREE L=30.0 RS 200
42 |BF  REH B |[EEEE L=8.0 H=3.0 EEE 1,300
43 |1FF  BARH B |RRmELYR L=30.0 BRI 300
44 |FF  EAKH Bk |EmEAEE L=8.0 H=4.0 HIT 800
45 |BF BAH Pk |EmEEE L=20.0 H=15 KEET 1,300
46 |BF  EAH ek |EmEARTR L=50.0 H=1.5 EEEE 1,200




Pl

i -

s

ERERXEEREX—&

BEAkR BhXE

No X % T ERI HEMRIE EIRIE EIREREM)
47 |[BFF  +8mM Bk |EmEAR L=8.0 H=2.0 RS 800
48 |FF  AH B |BERmEIE L=60.0 RS 200
49 [FF  OR B |BER@ETE L=80.0 ER RS 600
50 [KE  FRIR B |BERmTE L=150.0 RS 1,000
51 [KE  ZRR B |BRmETE L=100.0 ER TS 800
52 |EB g B | RS L=6.0 H=2.0 RS 500
53 |EE g Bk |EmEAEE L=10.0 H=2.5 R 1,000
54 |E8E e Bk |EEEE L=5.0 H=15 RS 500
55 |EE  fEfE BEk  |OKBSERIE L=2.0 KEEFR1E 200
56 |EB  fEMlS Bk |EmEAE L=5.0 H=2.0 RS 400
57 |EB  fEME Bk |EmEAEE L=4.0 H=2.0 R 600
58 |EE2  KFRHE] BB |EEaTE L=10.0 H=1.5 KEET 1,300
59 |EE K& A8 |F@ETE L=8.0 H=1.5 R 600
60 |EB  K&Hm B |FmEk L=6.0 H=1.5 RS 600
61 |EE A&l B |ERERE L=10.0 H=2.0 R 1,000
62 |EB  K&HuN B |[FmEE L=5.0 H=2.0 RS 600
63 |EE A& B |EEAE L=4.0 H=3.0 R 600
64 |EEB  K&HEN BEE  |FmaE L=8.0 H=2.0 AT 1,000
65 |EE 4R B |ERERE L=10.0 H=2.0 HIT 1,200
66 |E2 4R BEE  |EmEaE L=8.0 H=5.0 AT 1,200
67 |EE 4R B8 |F@EE L=8.0 H=5.0 HIT 1,200
68 |EE2 4R B |FmEk L=12.0 H=15 AT 1,200
69 |EE  FrMAmE Bk |EmEAEE L=10.0 H=1.5 HIT 1,000
70 |EE A B |EEEE L=10.0 H=2.5 AT 1,200
71 |EE A Bk |EmEAEE L=10.0 H=2.0 HIT 1,300
72 |EB AR B |EEEE L=10.0 H=1.0 AT 800
3 |EBE  5E B8 |F@EE L=40.0 H=2.0 R 1,300
4 |EBE FE IS S D5 i) -3 L=10.0 H=2.0 RS 600
B |EE SE B8 |F@EE L=6.0 H=6.0 R 400
6 |EB FE B |FmEk L=8.0 H=6.0 RS 400
7 |FEE NEER O|[EEK |EEEE L=6.0 H=2.0 R 400
78 |EB B4R |[EK |EEEE L=10.0 H=2.0 RS 500
79 |FE  NEER O(BEE |EEEE L=10.0 H=1.0 R 400
80 |EB A& Bk |BEEAE L=8.0 H=15 R 1,000
81 |EB =I5 B (RE%E L=60.0 PR ERE 400
82 |EB A& BB |FmEk L=2.0 H=2.0 R 200
83 |EB =E/#% B |EEEE L=5.0 H=2.0 EEAE 600
84 |EEB RA&R A8 |F@ETE L=10.0 H=4.0 R 1,000
8 | X2 &HT B |EEEE L=10.0 H=1.0 RS 200
86 |EE  ABEAMER|HK |EHERIE  |L=4.0 TERTE RIS 600
87 |EE2  RENMER[EK [EEEE L=4.0 H=5.0 H3aLT 1,000
88 |EB &X/BR [#Kk  |EEE%E L=5.0 H=7.0 RS 1,200
89 [EB E|R Bk |iEEEE L=8.0 H=2.0 EEAE 300
0 |EE =H B |EEEE L=10.0 H=1.0 EEAE 500
91 |EB %EH Bk |EmEAEE L=4.0 H=15 R 400




- RERBRXEEREE-E

Pl
s

RERMR BEIMKXE

No X % I ERMR WERE BEIBT* EIREM(TM)
92 (X8 =%H BEE |EERE L=6.0 H=2.0 B 400
93 |xB =%H ek EERE L=10.0 H=2.0 HIT 1,200
9% RN /BT B ([BREEE L=50.0 BREHIE 300
95 ([RJII EE (A [sEAE L=12.0 H=3.0 RERE 700
9% [ AIIE [gok  |LE#EE [L=30.0 +THREE 1,000
97 |BNI mIIR (M [EER% L=12.0 H=15 REHEE 800
98 ()1 EE A [x@EaE L=6.0 H=2.0 EEE 400
99 |RJII 1 g [EmEmE L=6.0 H=15 BRI 400
100 | 18 B | EmEEE L=15.0 H=2.0 HIT 1,000
101 |58 TR A |WE L=10.0 EEE 600
102 |8 TR ek k@R L=10.0 H=3.0 EEEE 800
103 [ TR |Hk [EEEEE L=20.0 H=1.0 KT 1,300
104 | TR |8 [EES% L=10.0 H=1.5 BB 600
105 (L% TAER I I b i) : b3 L=8.0 H=2.0 EEE 600
106 | TAEER  |Hk [E@EEE L=6.0 H=5.0 BB 800
107 |E TEm B [FEE% L=12.0 H=2.0 HIT 1,200
108 | TEHM  |Hk |[LR#E L=8.0 TRHEE 200
109 |53 WIR ek k@R L=50.0 KEET 1,300
110 | MR HEk SR L=50.0 H=1.0 EERE 1,000
111 (L8 BBsr i B | EEEE L=50.0 R EAE 400
112 [ @y [Hk [EERRE [L=5.0 H=20 AERHE 800
113 |58 A B |RRmELYR L=40.0 R EE 300
114 |3 A Big  |EEAATE L=6.0 H=1.5 EEME 500
115 [R#  a#E ¥k [EEE% L=8.0 H=15 BRI 600
116 (L%  AHHA ek |EmEARTR L=4.0 H=1.5 EEAE 200
117 ([ AH#/| ek |E@EARTR L=8.0 H=1.5 HILT 600
118 | AHHE ek [EIR FIARMNIE 200
119 | tBW |8k [EEsE L=6.0 H=2.0 BB 400
120 (L3  tB® [Pk |#EK BRI 200
121 |58 #H Bk k@R L=6.0 H=2.0 EEEE 300
122 L% #H e L=4.0 H=15 EEEE 200
123 |fglm EESFS |EE Mm% L=2.0 S 300
124 g @ HEk |BERERE L=15.0 H=5.0 AT 1,300
125 [gR A% B | BREE L=30.0 RIS 500
126 [g1R A% S B L=10.0 H=2.0 EEEE 800
127 [1R &% EHE |EERE L=8.0 H=2.0 EEEE 600
128 [3R &% B |BERE L=10.0 H=2.0 AT 1,200
129 [a13R  32M B |BBRE L=8.0 H=2.0 HIT 1,000
130 [gR =W (&R |RERE L=8.0 H=6.0 RIS 1,300
131 (AR 7Bk Bk | LRVIERR L=50.0 TRMEE 600
132 |gmR EK Bk | LRDIERE L=80.0 TRMEE 800
133 |58 =R ek |EmEaTR L=4.0 H=6.0 EEME 200
134 [£#8 =R Pk EERE L=10.0 H=1.0 EEEE 500
135 |[£/ ®/E |8 [EEE% L=5.0 H=15 REIE 300
136 |8 s ek |[EmEARTR L=15.0 H=15 EEME 800




Pl

i -

s

ERERXEEREX—&

B¥RmESR BHMKE
No X % I ERMR WERE BEIBT* EIREM(TM)
137 | £ & B BEK EHBRE L=6.0 H=1.5 TREEE 600
138 |&& =F B& PR IE [L=120.0 PREEE 1,000
139 | &£ & —F pENES BRI L=100.0 S 1,000
140 | & & BAR A EHBRE L=20.0 H=1.0 KEET 1,000
141 | £ & RN A EHEATR L=20.0 H=1.0 KT 1,200
142 |8 &K Bk [EEBEE L=20.0 H=15 EEmE 1,000
143 |£& Y BEK EEATR L=30.0 H=1.5 TREfEE 1,200
144 |28  FHoR Bk [EREBEE L=15.0 H=15 RS 500
145 |58  FHoR Bk [EEBEE L=10.0 H=2.0 RS 800
146 [5<)1 —ARME B B RE L=4.0 H=2.0 HILT 1,000
147 |51 —ARME B BB RR% L=4.0 H=2.0 HITT 1,000
148 |31 Nip=E HEIK e L=10.0 H=1.0 EEEE 600
149 |z IR BEK EHBRE L=20.0 H=1.0 TREEE 800
150 |31 INBRGR A EHEATR L=4.0 H=4.0 TEEEE 600
= 110,000
I R ®%8 (FH)
BE 4914 32,700
i 1014 77,300
BE 1501 110,000




HEBRXERREE—%

S
No | #X % (/SEEA WERR WERR|EIRERFTM)
| BR [JIA HERE. BERE L= 200 300
2 | BR [REs HETE. QRIS L= 200 1,000
()| BE [s1E BEERE (K) . ®ITi® L= 400 1,000
@) | F#F |z R L= 600 750
G) | F#F |BR R L= 200 300
(6) | FF |28 R L= 400 500
(M) | #F |FEWL HEE. BERE. $%XIE (L= 500 1,000
(8) | FF |ZB2mEL R L= 900 1,100
9| #F (AR R L= 700 900
(10)| #F |B8AKH PR SR L= 200 300
1D | #F |8KH PR SR L= 200 300
(12)| X2 |K#FHF RS, @ITIE L= 350 900
(13)| X2 |K#FHFw RS, @ITIE L= 400 1,100
(14)| X2 |K#Fl RS, @ITIE L= 300 800
(15)| (2 |K#FH R, @ITIE L= 450 1,200
(16)| KB |&FE PR L= 100 300
(17)| KE |#R R L= 100 300
(18)| X2 |#BR R, @ITIE L= 500 700
(19| EX2 |IFH PR L= 100 300
(20)| 21l |%ERWL PR L= 200 300
(21)| 2N Ik R L= 300 400
(22)| 2N | A s 0 R L= 50 300
(23)| 2 |RER PR L= 200 300
(24)| £ |BLg RmEEYE. @ITIE L= 100 300
(25)| £#& |Buig RmESEYE. @ITIE L= 200 500
(26)| £& |Big RmEEYE,. @ITIE L= 150 400
@7 £& |Alg RmESEYE. @ITIE L= 200 500
(28)| £#& |Buig RmEEYE. @ITIE L= 150 400
(29)| ®I BT R HERE L=2 150
INEE 16,600
(=3t
No |#[X(2) 7 SEEA WERR BEIRER|EIRER(FTM)
O | &7 |fFxE AEE |BRELE L= 1,000 1,200
@ | &8 (g 77 |BEEE (K L= 200 900
NEH 2,100

EIRER (M)

18,700




EMEER W

4L =0

K &P

(OAERES

146~150, (29) KII|

123~124 TR

100~122 [

92~93, (19) F&

8~9 (5N} zgxi /

1 B

125~132 HIR

2 FIEHHET/
3~7 ZRHET

133~145, (24) ~

a—_—

W

94~99, (20) ~ (23) ZJI|

50~51, (12~ (18) KE

h~49 4D ~01) FF

10~15, (D~ (2) AR

28). D~Q@ %£8&

2.‘5

0

75 10.0‘ km

1:200000

COMBDERICLEST . B BRROKDES T, RARRET
D2F5F D1 R ERR Uz,
(KBES T261H{E. 5202-GISMAP338095)



